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[I=Civa K& de Total
(T>hU—:28) | (T>hU—:18)
1 1 TA 30 12 42
2 EH EREsh 18 20 38
3 Iz B 10 - 10
3 = IE{C 10 - 10
5 BRES - 8 8
CEAnEth)
5 BR (—3) - 8 8
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=41 K& Total
(T>RU—:16) | (I>RU—:14)
1 R OHFE 30 - 30
1 AiE B 30 - 30
3 EH EREsh - 20 20
3 ISEy =— - 20 20
5 =H IE{C 18 - 18
5 RIBBAI—ZR 18 - 18
7 AL 1B - 12 12
7 HiE Ih - 12 12
9 g =X 10 - 10
9 EH BA 10 - 10
9 D= R 10 - 10
9 HLE A 10 - 10
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(T>hU—:28) | (T>KhU—:17)
1 AF IEi 30 - 30
2 PR - - 20 20
3 A 18 - 18
3 S &t 10 18
3 WE A 10 18
6 HFiE =5t - 12 12




